Doc. N.° 1SDH001000R0822 - ECN000070972 - Rev. C

SACE Emax 2

Retrofitting messa a terra parte fissa (Fissaggio fronte/lato) - E2.2-E4.2-E6.2
Grounding clamp retrofitting fixed part (Front/Side mounting) - E2.2-E4.2-E6.2
Nachristung Erdung festes Teil (Befestigung Vorderseite/Seite) - E2.2-E4.2-E6.2
Retrofitting mise a la terre partie fixe (Fixation devant/c6té) - E2.2-E4.2-E6.2
Retrofitting puesta a tierra parte fija (Fijacion frente/lado) - E2.2-E4.2-E6.2

E2.2-E4.2-E6.2

Push ON D D
= | i [mome=] OK

A
Sa
o

)
1
@

Push OFF » @ OPEN OK

oz

M6x30

M8x30

HRZREE Iﬁ [T[©
@ \ ”@
(F ) (G] GD (L)

| © |ram.5.3|@m 9| | © |z.me.4|@m1o| | © |@m.8.4|@m13.1|
© E4.2-E6.2 P\ §
(P

@ (N)

M5x20

M6x20

> Y “//%
Y ”/g@

m
N
o
m
»
o
m
o
o

Power and productivity ‘l I! l!
for a better world™ " I' l.



Do not tighten the screws

Die Schrauben nicht anziehen
Ne pas serrer les vis

No ajustar los tornillos

=
>
Qo
o
—
©
—_
—
©
»
=
o
Z

Non serrare le viti

Do not tighten the screws

Die Schrauben nicht anziehen
Ne pas serrer les vis

No ajustar los tornillos

SACE Emax 2 | ABB



- Non serrare le viti
- Do not tighten the screws

- Die Schrauben nicht anziehen
- Ne pas serrer les vis

- No ajustar los tornillos

- Serrare le viti rispettando la sequenza indicata:

- Tighten the screws following the indicated sequence:

- Die Schrauben anziehen nach der angegebenen Reihenfolge:
- Serrer les vis suivant la séquence indiquée:

- Ajustar los tornillos siguiendo la secuencia indicada:

1-@ { 8Nm
2-@ { 20Nm
3-@ () 8Nm
4-@ {} 5Nm

SACE Emax 2 | ABB



- Posizionamento setto di ancoraggio

- Anchor plate positioning

- Positionierung der Verankerungswéande
- Positionnement du secteur d'ancrage

- Posicionamiento tabique de fijacion

100mm max.

Tt
o

00 ® 0® °°0 @0 ©

For more information please contact:

ABB S.p.A.

Via Pescaria, 5

24123 Bergamo - ltaly
Phone: +39 035 395 111

© Copyright 2017 ABB. All rights reserved. Power and productivity "l‘ == ==

www.abb.com for a better world™



	Page 1
	Page 2
	Page 3
	Page 4

